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Tosic Hypothesis test for the difference of population means: t test
et Anindustrial plant wants to determine which of two types of fuel, electric or gas, is more cost efficient (measured in
cost per unit of energy). Independent random samples were taken of plants using electricity and plants using gas.
Dictionary | These samples consisted of 14 plants using electricity, which had a mean cost per unit of $49.2 and standard
deviation of $8.55, and 10 plants using gas, which had a mean of $50.1 and standard deviation of $8.51
Assume that the populations of costs per unit are normally distributed for each type of fuel, and assume that the
@ variances of these populations are equal. Can we conclude, at the 0.1 level of sianificance, that the mean cost per

unit for plants using electricity, W, . s less than the mean cost per unitfor plants using gas, M, ?

Perform a one-failed test. Then fill in the table below.

Carry your intermediate computations to at least three decimal places and round your answers as specified in the
table. (If necessary, consult a list of formulas.)

“The nul hypothesis:

“The altemative hypathesis:

The tyne of test statistic Choose ane

The value ofthe test statistic
(Roundto atleastthree decimal
places)

The critical value atthe 0.1 level of
significance:

(Roundto at leastthree decimal
places)
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Perform a one-failed test. Then fill in the table below.

Carry your intermediate computations to at least three decimal places and round your answers as specified in the
table. (If necessary, consult a list of formulas.)

How do | enter a symbol for Statistics?

“The nul hypothesis:

“The altemative hypathesis:

The tyne of test statistic Choose ane

The value ofthe test statistic
(Roundto atleastthree decimal
places)

The critical value atthe 0.1 level of
significance:

(Roundto at leastthree decimal
places)

Can we conclude thatthe mean cost per unitfor plants
using electriciyis less than the mean cost per unit for
plants using gas?
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Below is an example of how I have to post it. It is not the answer to the question just an example.  Thanks!
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that M, — M, > O and support the hypothesis that M, — M, << 0. In other words, there is not enough evidence to
support the fact that p; < M, . Thus, the answer to the question is

No, we cannot conclude at the 0.05 level of significance that the average response time, W, ., of drive 1 is less than
the average response time, M, . of drive 2

The answer is

“The nul hypothesis:

“The altemative hypathesis:

The type oftest statisic: Degress of freedom: 20

The value ofthe test statistic
(Roundto atleastthree decimal
places)

The pvalue:
(Roundto at leastthree decimal
places)

Can we conclude thatthe mean processing time of
computer 1 is less than the mean pracessing time of
computer 27
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